O - Ringe

Gehauseteil fir Frontplatte mit Gewinde

Gehauseteil fir Frontplatte mit Durchgangsloch

Produkt Product . .
O-Ring Seal Metal Shell for threaded Front Panel Metal Shell for Panel with throught hole
Abdeckkappe
o ; 0 ; " . MaB X MaBY Ma3 D MaBY Ma3 D .
Type Polzahl Codier Jd-Nr- Part No. | Verpackung | AnschuBart| fiir Frontplatten Dichtung flier Sgﬁ:ﬁ\lﬁ?mder Eu:hs.ét:;:\;?:t:i;r Id.-Nr.: Gehauseteil| Abstand (Gewindeldnge) | (Gewinde) ( Dichtflache ) Id.-Nr.: Gehauseteil Id.-Nr.: Mutter | (Durchgangsloch )| ( Dichtflache ) Protective Cap MaB E Schirm- Feder
- “ | Packagin Termination| for Frontpanel Sealin . 1 Dim. X Dim.Y Dim. D _ _ Dim. Y Dim. D 1 ? 1
ging P 9| for Connector Sealing|  for Connector Sealing Part No. Metal Shell| Distance Mo Xty | s | (Gostmirtace) | TOrTNo Metall Shell | Part-No. Nut T tole) | (Sosto srtace) Dim. E | shield spring
Nr. 1 Nr. 2 Nr.3 Nr. 4 Nr. 4 Nr.5 Nr. 6
No. 1 No. 2 No. 3 No. 4 No. 4 No. 5 No. 6
2 Pol A M12 Gurt
5 Pol A Mi2 464559 Tape on Reel SMD 834899 - 835284 464272 9 mm 9 1) M14x1 17
3 Pol A M12 Gurt
3 Pin A M12 454267 Tape on Reel SMD 834899 - 835284 464272 9 mm 9 1) M14x1 17 _
284784 scg‘g}f”t SMD
Gurt 834899 - 835284 464272 9 mm 9 1) M14x1 17
284809 / 484790 u SMD
Tape on Reel
364781 Tray TL/THR Hicht maalich 9.0 mm
Schittgut ) ) 835299 /I70t assgillle B B B B
384402 Chuttgul 11/ THR p 9.0 mm
Bulk
4 Pol A M12
4 Pin A Mi2 384554 Tray TL/THR 834899 - 835284 464272 9 mm 9 1) M14x1 17 - _
Schittgut
384812 Bulk TL/THR 9.0 mm
394632 Tray TL/ THR - - 835299 “,'S;tp’;‘s"flgf: - - - - 9.0 mm
474329 / 394339 Gurt SMD 8.2/9.0 mm
Tape on Reel
254859 2) SCZ‘S}E“‘ SMD 834899 ] ] 254739 9 mm 9 1) M14x1 17 ;
2U4934 2) | Schuttaut | gy ; 254739 9 mm 9 1) M1 x 1 17
Bulk
284740/ 484924 | 1 fg;‘ ool SMD 9 mm 9 1) M 14 x 1 17
S” o 835284 464272
354132 chutigu SMD 834899 - 9 mm 9 1) M 14 x 1 17 -
Bulk
464912 Gurt SMD 832599 464272 9 mm 9 1) M14x1 17 X
Tape on Reel
364040 / 484719 2)| . Ut SMD - 254739 9 mm 9 1) M14x1 17
Tape on Real
5 Pol A M12 364779 Tray TL/THR 9.0 mm
5Pin AMI2 835299
384401 Schattgut | ¢/ ppr 9.0 mm
Bulk
Schiittgut nicht maglich } } )
384814 Bulk TL/THR ) ] (364785 montiert) nicht méglich ] ] ] ] not posible 9.0 mm
394633 Tray IL/THR (364785 assembled) not possible 9.0 mm
394337 Tray SMD 8.2 mm
Gurt 835299
474331 Tape on Reel SMD 8.2 mm -
Schiittgut
254317 Bulk SMD
284810 / 464676 Gurt SMD 834899 835284 464272 9 mm 9 1) M14x1 17 -
Tape on Real
454464 Tray SMD
8 Pol A M12
Messerleiste | 8PinAmiz| %4777 Tray SMD ) ) 835299 nicht méglich _ _ ] ] 374342 nomm
Male Connector 384400 Schiittgut SMD not possible 9.0 mm
Bulk
384494 Schattgut | ¢/ pyp ; 464272 9 mm 9 1) M 14 x 1 17
Bulk
Gurt Tape in 834899
464800 Ree'f SMD 835284 464272 9 mm 9 1) M14x1 17 X
Gurt
454643 SMD X
12 Pol A M12 Tape on Reel 834899 ; 835284 464272 9 mm 9 1) M 14 x 1 17
12 Pin AM12 Gurt
484784 SMD ]
Tape on Reel
Gurt
454645 SMD X
17 Pol A M12 Tape on Reel 834899 ; 835284 464272 9 mm 9 1) M1 x 1 17
17 Pin A M12 Gurt
484786 SMD .
Tape on Reel
5 Pol B M12 254319 scgzt/t/gm SMD
) 834899 - - 464272 9 mm 9 1) M14x1 17 -
5Pin BM712 Gurt
354130 SMD
Tape on Reel
4 Pol T M12 474580 Gurt SMD 834899 - 835284 464272 9 mm 9 1) M14x1 17 X
Tape on Reel
4 Pol S M12 474582 Gurt SMD 834899 - 835284 464272 9 mm 9 1) M14x1 17 X
Tape on Reel
4 Pol A M12 254188 2) scg:/t/t/gm SMD
4 Pin A M2 834899 - - 284363 / 354217 13 mm 10 M14x1 17 354217 354003 14,1 17
454829 2) Tray SMD
244790 2) SCZ‘?}E“‘ SMD ;
- 284363 / 354217 354217 354003 14,1 17
454828 2) Tray SMD
_ 13 mm 10 M14x1 17
364767 SCZ‘S}E“‘ SMD
5 Pol A M2 835284 284377 / 394863 394863 354003 14,1 17
5 Pin A M12 484967 Tray SMD 834899 -
374352 2) SCZ‘S}E”‘ TL/THR - 284363 / 354217 13 mm 10 M14x1 17 354217 354003 14,1 17
464834 SCZ‘S}E”‘ TL/THR 835284 284377 / 394863 13 mm 10 M14x1 17 394863 354003 14,1 17 -
484118 2) Tray TL/THR - 284363 / 354217 13 mm 10 M14x1 17 354217 354003 14,1 17
Schiittgut
394331 Bulk SMD
8 Pol A M12 484968 Tray SMD 834899 - 835284 284377 / 394863 13 mm 10 M14x1 17 394863 354003 14,1 17
8Pin AMI2
484156 Tray TL/THR
5 Pol B M12 374947 chl:/t;/?m SMD
) u 834899 - 835584 284377 / 394863 13 mm 10 M14x1 17 394863 354003 14,1 17
5 Pin BMI2 Schiitgut
474235 TL/THR
Bulk
4 Pol D M12 Schittgut
4 PinD M| 244798 2) Bulk SMD 834899 - - 284363 / 354217 13 mm 10 M14x1 17 354217 354003 14,1 17
2) Nicht fiir Neukonstruktionen. 2) Not Appicable for new Design. 464272 kann durch 254737 ersetzt werden, nicht fir Neukonsruktionen zulassig, Schirm Typen nur 464272. Not Appicable for new Design, Shield spring only 464272.
1) : Abweichend zu 1 Fr°“t1':‘lfr::e“d'°ke
IEC 61076 Front Panel
differing to IEC 61076 ,
thickness 1 mm

weitere Angaben siehe Zeichnung 464498l /

additional application refer to drawing 464498/

Information:

Tolerances

= ©

All Dimensions

inmm

Scale 2:1

All rights reserved.

Only for Information.

To ensure that this is the latest
version of this drawing, please
contact one of the ERNI companies
before using.

m 12.10.2015

Proprietary notice pursuant to 1SO 16016 to be observed.

Copyright by ERNI Production GmbH & Co. KG

Index Date

Subject to modification without

prior notice.

Drawing will not be updated.

Designation

M8/M12 Ubersicht Einbau Richtlinien
M8/M12 Overview Mounting Guideline

www.ERNI.com

BL. 2

224948 !

A0

Class ZCHALL




Produkt Product O - Ringe Gehauseteil fur Frontplatte mit Gewinde Gehé&useteil fir Frontplatte mit Durchgangsloch
O-Ring Seal Metal Shell for threaded Front Panel Metal Shell for Panel with throught hole
Abdeckkappe
. . N , Maf X MaBD Id.-Nr-.: Id.-Nr.: MaB Y MaB D Protective Ca
Type Polzahl Codier Jd-Nr- Part No.| Verpackung |AnschuBart| fiir Frontplatten Dichtung fer Sgiei:chkt\:lirgblnder gughséitfgz\seizzzti:r Id.-Nr.: Gehauseteil Part Abstand Distance (Gewbl},CTIIElAa/nge) (Gewil:lgz)YD/'m y (DI(:Dl}}gaCDhe) Gehduseteil Mutter (Durchgangsloch) (Dichtflache) ’ Schirm - Feder
s | Packaging |Termination| for Frontpanel Sealing . ; ] . ’ i Part-No. Metall Part-No. Dim. 'Y Dim. D hield i
for Connector Sealing | - for Connector Sealing No. Metal Shell 22;;;;3 (Threaa) g;%lgg i 5/?9/[ e a;vu, ? (Trough hole) (Sealing surface) Snieid spring
Nr. 1 Nr. 2 Nr.3 Nr. 4 Nr.5 Nr. 6
No. 1 No. 2 No. 3 Nr. 4 No. 4 No. 4 No. 5 No. 6
224150 / 464431/]  Gurt <MD
464643 | 484599 | Tape on Reel 834898 835283 254154 9 mm - M10x1 3 254154
234233 Schittgut | ¢\
Federleiste 3 Pol M8 Bulk )
Female Connector| 3 Pin M8 224150/ 464431/ Gurt SMD
464643 | 484599 | Tape on Reel 834898 835283 284067 13 mm - M10x1 13 284067
Schiittgut
234233 SMD
Bulk
224151/ 464432 Gurt SMD
Tape on Reel 254154 9 mm
234234 scg‘g}f”t SMD 834898 835283 ; M10x1 13 254154
Scrlftgm 394905 1) 101 13,5 - -
Federleiste 4 Pol M8 474231 Bulk TL/THR ) 254154
Female Connector| 4 Pin M8 224151 / 46432 Gurt SMD
Tape on Reel
234234 SCZ‘S}E“‘ SMD 834898 853283 284067 13 mm - M10x1 13 284067
Schiittgut
474231 sk | TL/THR
Gurt
Federleiste 6 Pol M8 464561 Tape on Reel  >MP 254154 9 mm 254154
Female Connector| 6 Pin M8 Gurt 834898 853283 } } M0 X1 B
464561 ur SMD 284067 13 mm 284067
Tape on Reel
224152 T3 eG :/;t/?eel SMD
pe 0 834898 - 284409 9 mm 6 M10x1 13 284409
234235 Schittgut | o\
Messerleiste 4 Pol M8 Bulk
. - 394905 1) 101 13,5 - -
Male Connector 4 Pin M8 Gurt
224152 Tape on Reel| SMD
s”c ditgut 834898 - 284074 13 mm 6 M10x1 13 284074
234235 Bk SMD
Gurt
454003 / 474053 SMD
22‘;}72 h/\441/22 £ ;ﬁl‘j’g "l?ft'e’ 834899 835284 - 394828 9 mm - M1ix1 17 -
284322 (254236) g SMD
Bulk
Schiittgut
194781 (174355) Bulk SMD
Gurt
22404 (354098) | 7 " poer SMD
5 Pol A M12 Gurt
5 Pin A piz| 394702/ 484896 | 1 7TV | SMD 834899 835284 - 394828 9 mm - M1sx1 17 -
Gurt
454950 Tape on Reel SMD
Gurt
394861 rape on Reel T-/ THR
Schiittgut
254310 Bl SMD
Gurt
354131/ 454952 | 7 "o of  SMD
Gurt
394305 SMD
22‘;‘72 “/:')122 Tape on Reel 834899 835284 - 394828 9 mm - M1sx1 17 -
454465 Tray SMD
474680 Tray TL/THR
Gurt
474681 rape on Reel T-/ THR
Gurt nicht maglich
484069 SMD . - - - 374343 X
12 Pol A M12 Tape on Reel 834899 835284 - 394828 9 mm ; M14x 1 17 not posible
12 Pin A M12 Gurt
484074 SMD ]
Tape on Reel
Gurt
484071 SMD X
17 Pol A M12 Tape on Reel 834899 835284 - 394828 9 mm - M 14 x 1 17
17 Pin A M12 Gurt
484076 SMD -
Tape on Reel
Schittgut
254205 Bulk SMD
Gurt
254206 / 454951 SMD
3 Pol B M12 Tape on Reel 834899 835284 - 394828 9 mm ; M14x 1 17 ;
5Pin BM12 Gurt
384891 SMD
Tape on Reel
Schiittgut
474233 puk | TL/THR
Schiittgut
234040 (223270) | > SMD
234041/ 454949 |  Gurt SMD
/ 484574 Tape on Reel
Gurt
364175 / 474665 SMD
‘4'2?}7 '27';141,22 Tape on Reel 834899 835284 - 394828 9 mm - M1ix1 17 -
454466 Tray SMD
Gurt
474522 rape on Reel TL/ THR
Federleiste 484944 Gurt TL/THR
Female Connector Tape on Reell 14mm
Gurt
454003 / 474053 SMD
22‘;‘72 “/:')122 I "S”Cijg ’ﬁ'e{ 834899 835284 - 394847 13 mm - M1ix1 17 374728 354003 141 17 -
284322 (254236) g SMD
Bulk
Schiittgut
194781 (174355) Bk SMD
Gurt
224084 (354098) | 7 " poer SMD
5 Pol A M12 Gurt
5 Pin A Miz| 3547021484896 | 1 "L | SMD 834899 835284 - 394847 13 mm - M1 x 1 17 374728 354003 14,1 17 -
Gurt
454950 Tape on Reel SMD
Gurt
394861 rape on Reel T-/ THR
Schiittgut
254310 Bulk SMD
Gurt
354131/ 454952 | . U Ceo o SMD
Gurt
394305 SMD
g;‘;}’ﬁ h/\441/22 Tape on Reel 834899 835284 - 394847 13 mm - M1x1 17 374728 354003 1.1 17 -
454465 Tray SMD
474680 Tray TL/THR
Gurt
474681 TL/THR
I ap%ﬁ/:t/?ee/ 374343
484069 SMD X
12 Pol A M12 Tape on Reel 834899 835284 - 394847 13 mm - M1ix1 17 374728 354003 14,1 17
12 Pin A M2 Gurt
484074 SMD )
Tape on Reel
Gurt
484071 SMD X
17 Pol A M12 Tape on Reel 834899 835284 - 394847 13 mm - M x 1 17 374728 354003 4.1 17
17 Pin A M12 Gurt
484076 SMD _
Tape on Reel
Schiittgut
254205 Bulk SMD
Gurt
254206 / 454951 SMD
5 Pol B M12 Tape on Reel 834899 835284 - 394847 13 mm - M1ix1 17 374728 354003 14,1 17 -
5Pin BM712 Gurt
384891 SMD
Tape on Reel
Schiittgut
474233 B | TL/THR
Schittgut
234040 (223270)| > D SMD
234041/ 454949 |  Gurt <MD
/ 484574 Tape on Reel
4 Pol D M12 Gurt
4 Pin D Miz| 34175 1 674665 | - P e SMD 834899 835284 - 394847 13 mm - M1 x 1 17 374728 354003 14,1 17 -
454466 Tray SMD
Gurt
474522 rape on Reel T-/ THR
Bei Verzicht der Abdeckkappe 374343 kann 374728 durch 284034, 374729 durch 254152 ersetzt werden, nicht fiir Neukonstuktionen zuldssig Nof Appicable for new Design
rope.on Reel  SMD 394828 9mm : e oecibie : : :
394811/ 474771 2P e 834899 835284 835284 M14 x 1 17 p 374343 X
Federleiste u SMD 394847 13mm - 394847 354003 14,1 17
Female Connector 8 Pol X M12 Tape on Reel
8PinXMI2 474211 Gurt SMD nicht méglich
CATéA Kunden Tape on Reel +2 THR 394828 9 mm ) not possible ) ) )
speaifische P e <MD 834899 835284 835284 M14 x 1 17 p 374343 X
Nusfiibrang! | Tape on Reel 42 THR 394847 13 mm - 394847 354033 141 17
" 1)
Abweiciwen q Frontplatten
zu IEC 61076 ;’__'rco';ef /1,";7':[
differing to IEC thickness
61076 e

Dichtbereich fir 0-Ring Nr. 1

Sealing surface for
O-ring No.T1

Nr. é

Nr. 6

M12 Messerleiste

Nr. 6 Nr.

6

Loch in Frontplatte M8 Federleiste M8 Messerleiste M12 Federleiste M12 Messerleiste M12 Federleiste CAT4A . N Loch in Frontplatte M8 Federleiste M8 Messerleiste M12 Federleiste M12 Messerleiste M12 Federleiste CAT6A
Front Panel with M8 Female Connector M8 Male Connecfor ~ MI2 Female Connector M2 Male Connector  M12 Female Connector CAT6A fur Kunden Gehause Front Panel with M8 Female Connector M8 Male Connector M12 Female Connector Mi2 Male Connector M12 Female Connector CAT6A
trought bore-hole Nr. 4 Nr. 4 Nr. 4 Miz Male Connector trought bore-hole
Nr. 4
Ne 3 Nr.2 -y Nr. 1 Nr. 4 Nr. 4 Nr. 4 \ Nr. 1
Nr. 2 '
Nr.1 Nr.1 N1 Nr.3 Nr-2 i Nr-3 N. 2 NF. 4
@D ﬂ ﬂ t OE @D Nr. 1
o - - i f (
o - > > ' £ans
S P \ Qﬁg ZENg: WNEN A
r =) 1 = & | g ; [ [ ]]
. J U [
ol o ] . L \ =) g
= § o I Nr.5 Nr.5 Frontplatte 'Iaczléerplatte ] \
o 3 — —1 Front Panel - ™ - ® Nr.5 Nr.5
<] - ° —
E=]
2%
<|S
| [ | [
M8x1 M12x1
M12x1
5] M8x1
o~ - @E » 'g §
oy _g 3
S — Qa.n
% 3 ™ <% >
23 N \ -
i | | | |
— [ |
™ u u

Abstand 9 mm

PCB to Frontpanel distance mm

Nr.5

Abstand 13 mm
PCB to Frontpanel distance 13mm

O

SW17

Wrench Size 17

SW13

Wrench Size 13

SW17

Wrench Size 17

Abstand 9 mm
Distance 9 mm

SW 13

Wrench Size 13

SW17

Wrench Size 17

Abstand 13 mm
Distance 13 mm

weitere Angaben siehe Zeichnung

4644981 /

additional application refer to drawing 464498/

Messerleisten M12 siehe Blatt 2

Information:

Tolerances 6 @

All Dimensions

inmm

Scale 2:1

All rights reserved.

Only for Information.

To ensure that this is the latest
version of this drawing, please
contact one of the ERNI companies
before using.

m 12.10.2015

Proprietary notice pursuant to 1SO 16016 to be observed.

Copyright by ERNI Production GmbH & Co. KG

Index Date

Subject to modification without
prior notice.
Drawing will not be updated.

Designation

M8/M12 Ubersicht Einbau Richtlinien
M8/M12 Overview Mounting Guideline

www.ERNI.com

224948

BL1
|

A0

Class

ZCHALL




X-ON Electronics

Largest Supplier of Electrical and Electronic Components

Click to view similar products for Circular Metric Connectors category:
Click to view products by ERNI manufacturer:

Other Similar products are found below :

600X518037X 6STD15PCR99B70A 8R4000A16M020 8R5000A16M005 1200910002 1203580030 1200910008 1200910011 1300140094
130203-0054 1300140026 1300150099 RF-12SIN8S8A90DU 1-3637-600-5205 1612618 21036836414 8R4006A16M010 8R5006A18A120
1604232 1R3006A20M005 RF-12PINSASODU RF-12PINSA9ODU 41-40011 42-01015 4-22279-4 4-22281-1 4-22284-9 43-00113 43-
01088 43-01203 41-40013 42-00008 43-00343 43-01032 43-01162 43-10000 600X518050X SACC-DSI-FS-5P-PG9-L180 SC
8R5006A16M020 8R5006A16M005 8R4000A16M010 6-22279-3 1605332 NO3FA03144 1300140077 43-01338 XS2RD4265 RSC 4/9
XS2R-D426-1 XS8A-0441



https://www.x-on.com.au/category/connectors/circular-connectors/circular-metric-connectors
https://www.x-on.com.au/manufacturer/erni
https://www.x-on.com.au/mpn/conec/600x518037x
https://www.x-on.com.au/mpn/conec/6std15pcr99b70a
https://www.x-on.com.au/mpn/molex/8r4000a16m020
https://www.x-on.com.au/mpn/molex/8r5000a16m005
https://www.x-on.com.au/mpn/molex/1200910002
https://www.x-on.com.au/mpn/molex/1203580030
https://www.x-on.com.au/mpn/molex/1200910008
https://www.x-on.com.au/mpn/molex/1200910011
https://www.x-on.com.au/mpn/molex/1300140094
https://www.x-on.com.au/mpn/molex/1302030054
https://www.x-on.com.au/mpn/molex/1300140026
https://www.x-on.com.au/mpn/molex/1300150099
https://www.x-on.com.au/mpn/phoenixcontact/rf12s1n8a90du
https://www.x-on.com.au/mpn/carlisleinterconnecttechnologies/136376005205
https://www.x-on.com.au/mpn/phoenixcontact/1612618
https://www.x-on.com.au/mpn/harting/21036836414
https://www.x-on.com.au/mpn/molex/8r4006a16m010
https://www.x-on.com.au/mpn/molex/8r5006a18a120
https://www.x-on.com.au/mpn/phoenixcontact/1604232
https://www.x-on.com.au/mpn/molex/1r3006a20m005
https://www.x-on.com.au/mpn/phoenixcontact/rf12p1n8a80du
https://www.x-on.com.au/mpn/phoenixcontact/rf12p1n8a90du
https://www.x-on.com.au/mpn/conec/4140011
https://www.x-on.com.au/mpn/conec/4201015
https://www.x-on.com.au/mpn/teconnectivity/4222794
https://www.x-on.com.au/mpn/teconnectivity/4222811
https://www.x-on.com.au/mpn/teconnectivity/4222849
https://www.x-on.com.au/mpn/conec/4300113
https://www.x-on.com.au/mpn/conec/4301088
https://www.x-on.com.au/mpn/conec/4301088
https://www.x-on.com.au/mpn/conec/4301203
https://www.x-on.com.au/mpn/conec/4140013
https://www.x-on.com.au/mpn/conec/4200008
https://www.x-on.com.au/mpn/conec/4300343
https://www.x-on.com.au/mpn/conec/4301032
https://www.x-on.com.au/mpn/conec/4301162
https://www.x-on.com.au/mpn/conec/4310000
https://www.x-on.com.au/mpn/conec/600x518050x
https://www.x-on.com.au/mpn/phoenixcontact/saccdsifs5ppg9l180sc
https://www.x-on.com.au/mpn/molex/8r5006a16m020
https://www.x-on.com.au/mpn/molex/8r5006a16m005
https://www.x-on.com.au/mpn/molex/8r4000a16m010
https://www.x-on.com.au/mpn/teconnectivity/6222793
https://www.x-on.com.au/mpn/phoenixcontact/1605332
https://www.x-on.com.au/mpn/molex/n03fa03144
https://www.x-on.com.au/mpn/molex/1300140077
https://www.x-on.com.au/mpn/conec/4301338
https://www.x-on.com.au/mpn/omron/xs2rd4265
https://www.x-on.com.au/mpn/lumberg/rsc49
https://www.x-on.com.au/mpn/omron/xs2rd4261
https://www.x-on.com.au/mpn/omron/xs8a0441

